ZALT=TI

No. ic#2 s L] SR |HEHE%%| H §]= Eq=|

1 1000 [D#ZHEST> HE TR B 11 1 6 |CR

2 10:04 |CHEEST> HE R B 6 1 6 SCR

3 10:10 (B#kEST> HE TR B 8 1 6 |SCRP

4 10:18  |AfREES T HE R B 4 1 4 SCRPJ

5 10:28 |D#REES T R 6 1 | NEALiE |CR

6 10:32 |CHEST> R 6 1 | NEfLiE [SCR

7 10:39 (B#kEST> R 6 1 | IEfLi%& [SCRP

8 10:47  |ARREES T R 4 1 | IEfLiE [SCRPJ

AREBBEAFT—F R KER-DORT7ER(209)

9 1117  |=—F7NCHEE 44 —K AR 7 1 6 |WT

10 1121 [=7NB#HEX4 4 —K HE TR B 6 1 6 |WT

11 1125 | =—F7ICHEE AL S —R AR 5 1 5 |WT

12 1129 [ =7 IBHERE A —F HE TR B 10 1 6 |WT

13 1133 |7 IARERAA—K AR 8 1 6 |(wTa
RE-oo7EFR007)

14 11:49 | =—F7NCHEE LS —R P 6 1 | IBf% (WT

15 1154 [ =7NB#HEX4 5 —K R 6 1 | IBGE (WT

16 1158 | —F7ICHEE AL S —K RS 6 1 | IBf% (WT

17 1202 [ =7 IBHER2 5 —F R 5 1 | IBRLE (WT

18 1207 |=7 I ABRERAUA —K P 6 1 | IBGE (wWTQ
REE-oO7EFR (409)

19 12:53  |CHRUERA A —F2 1RFE 27 3 18 |TF

20 13:05 |[B#ERRZ A —F 1RFE 29 3 18  |WTF

21 13:23  |ARREER A2 —K 1R FiE 25 3 18  |WTFQ

22 13:47 |DFRERFIL T —F1 =& 15 2 10 [TF

23 13:55 |CHREIRA A —F1 =P IE 24 2 12 (wTQ
RE-oo7EFR007)

24 1417  |CHREIRA A —F2 =P iE 18 2 12 |WTF

25 1429 [B#RERR A A —F =& 18 2 12 |WTFQ

26 14:45 |ARREER A2 —K =P IE 18 2 12 |WTVFQ
RE-oo7EFR007)

27 15:15 | 1#RBRR A A —F HE R 5 1 5 |WT

28 15:19  |DFREERFH—K2 HE TR B 7 1 6 |WQ

29 15:23 |DREER A H—R1 HE TR 10 1 6 |TF

30 15:27 |CHREIRALF—K2 HE TR B 12 1 6 |WTF

31 15:33  |CHREIRA T —F1 HE R 12 1 6 |WTQ

32 15:39 [B#ERR A A —F HE TR B 12 1 6 |WTFQ

33 15:47  |AfREER A A —K HE R 12 1 6 |WTVFQ
RE-oo7EFR007)

34 16:07 | 1#RERR A A —F R 5 1 | IBRLiE (WT

35 16:11  |DIREERFH—FK2 R 6 1 | JBGLE (wa

36 16:16  |DIREER A H—R1 R 6 1 | IBGE [TF

37 16:20 [CHREIRAL A —K2 R 6 1 | JBGLE [WTF

38 16:26 |CHREIRAF—F1 R 6 1 | IBfLiE (WTQ

39 16:33 [B#ERR A A —F R 6 1 | JBGLE (WTFQ

40 16:41  |AFREER A —K R 6 1 | IEfLiE (WTVFQ

AfREBEBEAF—F R

2T 17:00(F5F)




